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K is bound to String, V is bound to Double
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Position

-code : char
-description : String

-Positonlcode : char, description : String)
+getCodel) : char

+toStringl) : String

tHromCodelicode : char) : Position
+fromDescriptionidescription : String) : Position
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=<Interface==
java.lang.Comparable

+ecompareTolother : Scorel :int

SizeException
must be a checked
exception so must
specialize java.
lang.Exception or
an appropriate
descendent of it

SCOrng

<<=Interface==
Rule

SizeException

-serialVersionUID : long =1

+applyiscores : java.util.List<scorng.Score=) : java.util.List<scoring.5core> {exceptions=5ize Exception}

throws

0 is bound to Score

P

'
DropRule

-shouldDreplowest : boclean
-shouldDropHighest : boclean

+DropRulel)

+DropRule(shouldDroplowest : boclean, shouldDropHighest -...

Score

-key : java.lang.String
-value : java.lang.Doukle

+Scorelkey @ java.lang . String) {exceptions=|ava.lang.lllegalArgumentException}

+Scorelkey : java.lang.5tring, value : double) {exceptions=java.lang lllegalAirgumentException}

+Scorelkey : java.lang 5tring, value : java.lang. Double) {exceptions=java.lang.lllegalArgumentException}

+getkey() : java.lang.String
+getvaluel) : java.lang.Double
+toString() : java.lang. String

+toString(verbose : boolean) : java.lang. String

+5izeException()
+SizeException|(message : String)

throws

==Interface ==
ScoringSystem

+calculatelkey : String, scores : java.utl.List<Score=) : Score {exceptions=5izeException}

£

WeightedTotalSystem

-weights : java.util.Map<java.lang.5tring, java.lang.Double>

+WeightedTotalSystem()

+WeightedTotalSystem{weights : java.util.Map=java.lang.String, java.lang.Double=)

uUses

==utllity= =
Missing

-DEFAULT MISSING WALUE : double = 0.0

+doubleValuelnumber : Double) : double

+doubleValuelnumber : Double, missingValue : double) : double

+doubleValuelnumber : Double, missingValue : double, lowerBound : double)

TotwSystem and
WeightedTotalSyst
may or may net b
related (2.g., one
may be a
specialization of th
other) if it seems
appropriate.
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TotalSystem
+TotalSystem()




